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Draw the following points on the complex plane. Draw the following points for the following points on the complex plane.
avEw bA ED avE bAED
15 B il & 15 /A il
Th Th Th Th
AA(2 4+ 4i), 8 B(2i) [AA(2+3i), AB(—i) a+ B, a—2B at B, a—8
Th Th Th Th
BC(1—2i), AD(=2) |Ac(—2+i),aD(2) | | | - R N S - LI S
,,,,,, S S T T 7 S VRS OUS P  OL OO P C SO
3 A | ] . R 0 N T I O R
—————— et e I At il B e e B e ' ' ' Lo 3 ‘ 3 ‘
,,,,,, o dB —‘r—[—g—tl Y T T
o ‘ : C | @B 3 B
ffffff S T S A S s 1 [ : ‘ —> : — —>
Dl EEEENEEEE ol 1 ool 1
77777 Ciol 1 Tkl o] 1
C
,,,,,,,,,,,,,,,,,,,, L
! Thik Ex bbb
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oF Lz o Find the distance between the following two points.
2. z=a+bilZBVT, WOMWIZE X X, P
Answer the following questions at z=a+b i. {@J% A( 1+ 27 ) B( 4 — 921 )
(AR HAED
{5l [ A AB=|(—2d-(+2d) | =|s-4i|
— bbb — bbb
O a%z,zTEHE, O bxz,z THRHE, :\/2 N = LS —
Express a by z and z i +( 4) .
i c(—2+5i),D(6—1i)
z=a—bi " R
z+z2=2a
z+z
a =
2
Th FhTh LSV ob ALY )
— — — 6. 2K A BLFEHAONHE —HM LIZHDLEE, FE
SEX = N N = — 3 b
@ii%ﬁkzwzb @zbﬁﬁﬁkz z bk b
FME 72 = & 2o, Iﬁ”‘[g Tk Z&ﬁ—\w]i—o Find the real number x when two points A, B and the origin O.are
Show that z is a real number Show that z is a pure imaginary on the same straight line.
and z = z bar is equivalent. number and z = — z nwe EN
il Alx+ 2i),B(4— 217)
Lo ¥
ZHMERA S b=01Ck Y, , ,
x+2i=k(4—21i)»s
z=z=alkB, x=4#k, 2=—2Fk
Yo, k=7, x=4x(—7)=—4
z=z DL E, b=01i b e . .
e A(x+3i),B(2— 1)
Lo ¥
z=a Tz EHCLD
OF 5 & FH Horl b
3. ROBEZOWREL KD L,
Find the absolute value of the following complex number.
(AR HAED
15 B il
Lod )
®—3 XEH (O 5 \
oF 5 2 FH bR b
real number 7. ‘/k@% % PRI %;k&)io
| —3 | = 3 Find the value of the following complex number.
o mELES anE bAED
@ 2i MR (@ —4i ke 5
. pure imaginary number e+ B=2inLx, _g=—30pLx,
|28 | =2 - be - b
at+ B ERD X, a— B ERD I,
® 1— 21 ®— 1+ 21
a+ B =2i1=—21

| 7—2 1 |

724+ (=2) =v5
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Draw the following points on the complex plane. Draw the following points for the following points on the complex plane.
e En bAE A En b AR
15 R4 i 15l RE i
Th Th Th Th
AA(3+ i), SB(310) AA(-3+1i), 5 B(—i) a+t B, a—B a+B, a—28
Th Th Th Th
Aco(2—i),AD(-3) |Ac(2+3i),4AD(3) | | | IR - o i R S S
7777777777777 o N, S R U O S o RN N S SN SO S
B A A S S R N AN
777777777777777 Q BQ ‘(x Q
S e B R R e e
C LA =B : P
ek 1k Ry S s 1 [ > : — >
D o ‘ o] 1 x| O] 1 . x
-— ‘ —> > | | | Ty A ””””””
of 1 : ' «x of 1 x| o e B
,,,,,,,,,,,,,,,,,,,,,,,, R
,,,,,,,,,,,,,,,,,,,,,, (R I A
0¥ Thivk  Ex b b &
5- {k@ZM\ Fﬁﬁ@ﬁﬁﬁ%ﬁ%*&)io

oE & 7=
2. z=a+dbilZBVT, KO Wc&Ex k.

Answer the following questions at z=a+b i.

AR =N o5
11| RE |a|:1@k%, o + Ti;@ﬁf%é
real number
la|=/ 0ors, |a|'=/ ts2ps
o a =/ Fubbt ——=a
- a + ; :oc+;
Lo¥9 Lo¥9
ata BERTHD NS a+—%5§%§(’<%6
Q.ED
b AL 2 / '[Lﬂ;o
1 |a|:1@k%, a” + TEHRTH 5,

S¥ k< 2 FH ok b
3. WOBRE DM E L KD &,
Find the absolute value of the following complex number.
(AR HAED
i il
Lod )
-5 XxFEH O 7
| -5 | =5
. . Uwh?l?’:a .
©—31 XA EH |© i
| —3i| =3

@ 3—1 @—3+ 41

| 3— i |

=y 32+ (=1 =Vi0

Find the distance between the following two points.

A
i Al

—2+3i),B(4—51)
AB= | (45— (—2+33) | =]6—s5i]

ST =T =10

bA ED
e c(—2+3i),D(1—1)
FhTh ERA t}:<’d‘/u[i\t Lot
6- A\A Bkﬁ/n 075)“ EIV% %ék%, i,x
% Sk&b £
Find the real number x when two points A, B and the origin O are
on the same straight line.
nw e
flE A(x+4i),B(2— i)
x+4i=k(2—1i)H»s
x=2k, 4=—kFk
Yo, kB =4, x=2x(—4)=—¢
LA B
fE A(x+ 3i),B(2+ i)
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Find the value of the following complex number.

72 b En

i il &
a—B=3iDLZE, atp=20DLZ,

J— J— bHL J— J— bL

a— B ERD L, at+ B ERDL,

a—fB =3 1=—31

;*E: a— B =—31
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Draw the following points on the complex plane.

RO O FI T L0

SLETIHI~0D AL LD Th

o Th 7
TOWT, IRD A ’E’I/TJd:ot

Draw the following points for the following points on the complex plane.

avEw bA ED avE bAED
i il & i il
Th Th Th Th
AA(2), AB(1+2i) |[AA(-3), AB(2+ i) at+ B, a—B at B, a—B
h A h A
se(8i), mD(—2—i) [Ac(—2i), mp(s+2i)| | | i I | e
4 I T T/ A U U A A N IR S B a+Bb SR IS S S S
T Ic ,,,,,,,,,,,,,, SRR S P I N s
e e Y 1 1 e’ !
‘B ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, -1 B“ ****** L Bl EEEREEEEE e e b
o L : | LopeT B 3 o .
IEEEED A ol 1 Tx of 1 . K
: : : *r——> : > | | | Ty A S Rl o
Lol 1 X of 1 2 T N S N KO A U N N N B
N N TN
Sl
oF Thh  Fr D b &
4- YK@ZM\ FEﬁ@ EHE%*&)J:O
SF bl br Find the distance between the following two points.
2. Yk@ {Eﬁ‘ Zg;kgy‘) J:o Find the next value. e e
Mg A(z+ 40),B(10— 20)
WJ%@ZZZ—Sl@E% Fﬂﬁ%@ZZI_ZZ@k% AB:‘(/0~21)~(2+41)‘:‘(S’ﬁél‘
1)z 1 =z
=7 H(—6) =100 =
= 2+3 1 bA D
e Co(—2+5i),D(1+ 1)
@ — =z @~z
= —2—31
z+ z z+z
3 @
FhTh A tt<4¢/uu; Lot
5- A\A Bkﬁ)f?OZ’Pﬂ EIV% %ék%ygﬂ% X
(2= 3 )+ (@2+39) !
o 2 %*&) J:o
Find the real number x when two points A, B and the origin O are
on the same straight line.
- ‘2 nw e
_ - il A(x+ 3i),B(2— i)
zZ — 2 Z2 — Z
@ = @) 2 x+3i=k(2—i)»s
(-3 )-(2+3 1) *=2k, 3=k
h 2 Fot, B =—3, x=2x(—3)=—4
b L
= —3 e Alx—2i),B(2+ i)
B) | 2z | B |z |
= 4/ 22+ (=3)
= V73
ey HAED
BIEQ z=31i DL = MEQ z=2iD L X
. . 5 Z FH bEL b
(1) (= 6. KOBRHKOE 2Kkw L,
) Find the value of the following complex number.
= —3 1 PO b AN
B 151 ]
@~z @~z at+tB=1+2i0LE, |a—f=3-iDLxX,
J— J— bHL J— J— bL
=—(—39)= 3 i a+ B ERD L, a— B KDL,
3 | z | A |z |
at+tB=/+21=/—21
=l3il=3 o
atB=a+p=7/-21
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fil B ]
z=1+V3 intx, z=2+v5 iDLE,
Ko I %k k. Ko ko k.
O |z O |z
~VIEY =2
@ =z @ z
=7—V3 i
® zz @ zz
=(7+v3 i) (7—V31)
=/ (V3i)= 4
@ z+z @ z+z
=(/+V3 i)+ (1—V3 i)
=2
2. ?kg@%é %%& Ob\f;%gi X o Answer the following complex number.
{51 e |z|=38 »o |z —4|=3 AT L
Lo NT, Ko &R k.
D zz
zz = |z|2:32 =9
@ z+z
|z —4|"=(z 4 )(z =4 ) =(2 —4 ) (z—4)

=zz—4 (z2+2z )+7b
=—4 (24 2)+25 =9

rm  z4z= 4

+ 9

L_

6/7‘14 & &<

W |z|=2m0 [z —2|=2 &z
SNT, Ko fE &R X,

=%

@ z+ 2z

L

3. MHE

(672N

150 A YA
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When the complex numbers « and S satisfy the conditions,
find the following values.

v v

il %%
B+

. lat+B|=5

:|a|2+a3+0é8+|3|2
=3* +a B+ap+4t =57

aB+aB =52—3—4=y
@ |a—8|
e =817 =(a—8)(a—5)
=(a—B8)(a—8)
—aa—aB—aB+BB
=lal"~(aB+ap)r]sl]
=37 —04+4* =25
la =B |20 v |a—8|=v25 =5
HATL Cxroith
M &t |a|l=2, |8]|=38., |at+tB|=4
D o B+abp
@ [a—8]|
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When the complex numbers o« and S satisfy the conditions,
find the following values.

VR a T L X,

).’éﬁ( & )

/j’(@%g;%& U\T/QZ J: Answer the following complex number.
o En bh D
f5il /E [ RE
z—2+V§i@k%, z-1+¢§i@k%
YA b
ﬁ@ﬁ%*w; &@ﬁ%*@;
O |z O |z
=y 2'+WE ) =3
@ z @ z
= 2—5 i
® zz ® zz
=(2+4v5 i) (2—Vv5 1)
=2 (V5 )= 9
@ z+ z @ z+ 2z
=(2+V5 i)+ (2—V5 Q)
= 4
ekl S X T ) oy
Yk@ E%ﬁ OU\T%%_ J:o Answer the following complex number.
AR =N _ 7 IR
P |z|=38 o z+z=4dxilrTEEKz: &
b
Kok,
zE:|z =3 =9, z+z=4 1

LiddTwntiL =

i2u\7fﬁlf& x2—4 x+9=0 0)2%5

. () =V () —4 x ] %9
- 2 X7
+y/ +2v5 i
_ 4 . 20 4 25 L

o1, z=2%EV5 i

B % |al=2, |B]=3, |a—8|=4
D o B+abp
o =817 =(a—8)(a—5)
=(a—8)(a—8)
—aa—aB—aB+BB

=lal’~aB—ap+|s]
=2 —(a B+a B)+3 =4
@ B+apB =243 —4=-3

HATEN T

[ s ||—2w0z+z—2%ﬁt?@$ﬁz%
K k.

@ [a+8|
|a+B|2 = a+B)(a+B)
=(a+8)(a+8)
—aataBt+aB+BB
=lal"t(aB+ap)r]s]
=22 —34+3% =/0
la+B8]z0 v |a+8]|= vi0
bHATE N Cxoidh
A 7|<ﬁ:|oc|_3 |B|:4 |oc—B|:5
® aB+alB
@ |a+8|
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/j’(@%g;%& U\T/QZ J: Answer the following complex number.
N HA N
11| RH 1 BE
z—\/i%_—i@k% z =2 — \/2_1'@&%,
Ko %KD L. Ko ME %k k.
D 2| D 2|
=V (V3 V(=) =2
@ z @ z
= V3 +i
® zz @ zz
=(vV3 —i) (V3 +1i)
—(VF Y- it= 4
@ z+ 2z @ z+ 2z
=(vV3 — i)+ (V3 +i)
= 23
ekl S X T ) oy
Yk@ E%ﬁ OU\T%%_ J:o Answer the following complex number.
nn En — ‘J% S ET S
Bl |z|=2 7o 2+z=2V3 BT R 2
R k.
zE:|z =2t =4, 2tz =208 kv
ZEIRFRA 22—2V3 x+i=0 0o
(V3 ) =V (VB ) u x 7 x4
X =
2 X7
N 2¢§+v/¢ N 2%i+2i¢?+i
Fow, z2=v3 *i
LAEN P
[ | |=2m> 2 +z2=2V2 il HEK 2 %
ﬂz&)io

Ko Tl B R L

When the complex numbers o« and S satisfy the conditions,
find the following values.

VR a T L X,

B %M |a|l=4, |B]=5, |a—8|=6
D o B+abp
o =817 =(a—8)(a—5)
=(a—8)(a—8)
—aa—aB—aB+BB

=lal"~aB—ap+]|8]

=4* —(a B+a B)+5 =47
a BtaB =445 —'= 5
@ [a+8|
|a+B|2 = a+B)(a+B)
=(a+8)(a+8)
—aataBt+aB+BB
=lal"t(aB+ap)r]s]
=47 +5+50 = 46
la+8|20 £v |a+8|=vio
bHATE N Cxoidh
i@ %t |al=5, |B]=4, |a—8]|=3
® aB+alB

@ |a+8]




